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Q3: - Find a function whose graph has the (Al Lt ¢y 68 Al Adal) aa ) (3) JHsead)
given asymptotes. 3
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Q4: - Determine the graph of the function Alall Akl JEal daa (4) JIseadd
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Q5: - Suppose f is a polynomial function such Suag dgagas A3 f o8l (5) J)gead)
that

f[2)=0,f"(2)=-5
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@f(Z) is local maximum. f(z) =° e S \
b) f(2) is local minimum f //Q’LB - -5 o UG&Q
c) f(2)is absolute maximum.

d) f(2)isabsoluteminimum.
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Q6: -Find the x — coordinate of the local dalaall abaall Al x Clidlas) 2 ) (6) J) 3ead)
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f(x) = x*e™™*
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Q7: -find all critical numbers of J A jal) dlac ¥l JS aa 4l (7) JVed)
fx)=x3—-3x*-9x+1
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Q8: -Find the intervals where the function Alall Led oS5 Al <l yiall aa 1 (8) ) gad)
g(x) is increasing sl e g(x)
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Q9: -Find the intervals where the £ () Adlall Led 0585 Al <l yidl) as 6l (10) ) gead)
function f(x) is increasing 3 Yia

a) (—o0,—2) U (0,2)
b)(—2,0) U (2, )

c) (—o0,—2) U (2, )

d) (—2,0) U (0,2)

Q10: -Find the absolute extrema of the e Allall sl (5 saaill aill 22 5l (10) gl
function on the given interval 3Uazall 3 yial)
f(x) =x3-12x+10,[0,3] o

flo=3>a =7

a) f(0)=101f(3)=1 ';[}\L—b\):o —) A= svih—-2

(bDf(0) =10,f(2) = —6 P )= (o B et
_ _ 0)= (=)’ —\2(e) 4 \2= \ o
¢ f(2)=-6,f3)=1 Jf/@):(qs,mu)ﬂo%;;:iﬂ

d) f/(0)=10,f(2)=-6,f3) =1 3
L (3)=GY-r2(3)tls =\

Q11: - If the graph of y = ax3 — 6x2 + bx + 13 has a point of inflection at (2, —1).
What is the value of a and b ?
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https://voutu.be/U8q38GbvaCs?si=Zh40c9WPb3Ns7r2i
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Q12: - Draw a graph of f(x) showing all AN Gy ) (12) Vg
significant features.

fx)=x*—4x3+10
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